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PHILOSOPHY
[GENERAL]
Paper : 11
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

GROUP-A
(Logic)
(Marks : 50)

1.  Answer any six of the following questions: 2x6=12
fasferiee @-@E wafe do Ten me s
a)  What is empty class? Represent an empty
class with a venn diagram.
S @A e cea-bram MgE @6 -
Torgiol 34 |

b)  "All men are mortal" analyse this proposition
following class relation.
“FE Wi T NS G AL A THE
fefers fesze w11

c) First convert and then obvert the converse
of the proposition 'Only boys are student'.
‘(@E WG AR TG IWBALE AU S-S
I IR A@ Ta SRfSred e T4
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d) What 1is the contradictory form of
'(P=~Q)"
(P=~Q)-97 e wIlalG 52

e) According to modern logician. Only
propositions have existential

g JfeReEd SRpAE a3 g
W2 AGTF SleoR iz |

f)  What is a self-contradictory statement form?
Give an example.

FofNer WA F2 @I Trigge wie |

g) Give an example of sub-contrary opposition.
& e Reaiiem 3 Srzmd wie |

h)  What is an argument form?
e TR FIE A2

1) If p is true and q is false then what is the
truth value of (pvq)>(~q>p)?
p 9 @) q WA == (pvq)o(~qDp) @S
oy 2092

2. Answer any three of the following questions:

6x3=18
e @@ foat ame Ted e ¢

a)  What is existential import? Are you sure that

a proposition must have existential import?
2+4

wRegges oAy FiE e o 5 [ffvs @
Rt apHe. SeE i S ?
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b)

d)
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What are the rules of obversion? Obvert the
following statements: 2+(2+2)=6

eemr sl & e ope awrefs

e <9 ¢

i) Only the labourious persons are
successful

@Emig AR wiexz 1w |
i1)  All students ate not gentle.

N 'lg ©Y |

Express the following propositions as

equations or inequations, and then represent

these by means of Venn-Diagrams:
2+2+2=6

fefeiee paelers sEiwRd a epRlieRd 93

i)  Only students can use the front door.
@ REHE ANET wHel AR FACS
Al |

i1) All leaves are green.
A Aiced ATl e |

111) Few flowers are black.

g e 2 T

If P, Q, R are true and X, Y, Z arec false
propositions, determine the truth-value of
the following: 3+3=6
g P, Q, R &y b+ = @R X, Y, Z fayl a5
oY, O@ fwfeTieulm AopEn e 9 ¢

) (X=Y)>5[(Q-R)>(~Z>~P)]
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ii) [(P.X) - Y:l :)[(X:) P)>(P> Y):l

e) What is syllogism? Name the fallacies
committed and the rule violated by the
following syllogistic form: 2+2+2=6
@ (1 90602 O] T GR (@Y TR-GF (@I o=
e BRCZ O TEd 9|
i) EAO -3
ii) AEE -2

3. Answer any two of the following questions:

10%x2=20
e @@ 7ft deis Ted mie ¢
a) Test the validity of the following by means
of Venn-diagram: 5+5=10
(oAb AR (@l [oiF + ¢
1)  No men are prefect and each man is an
animal; therefore, no animals are
perfect.
@ R e w1 @3 affefs SR 2,
Seqy (@9 i Fde a7
i1)  Those who love their country are never
selfish. Men are generally selfish. So
men do not generally love their country.
TR oeedll O FUCT o w1 | e
AlRre: FILAT| SOGT Teq AT
(TS 7 |
b) Use the truth table to characterize the
following statement forms as tautologus,
contingent or self-contradictory:  5+5=10
ToPTRAE ARIE) FEkRe ARl Feste),
Fosfier s S fdfy 9 ¢
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d)

i) [pD(qu)]D[qD(pDr)]

i) [pv(a-r)]>[(p-a)v(p-r)]
Write the difference of the following pairs:
fafeiie (eroefrm Wy oNdFef @l

1) traditional square of oppositions and
modern square of oppositions

i1) arguments and arguments form

111) material equivalence and logical
equivalence 3+3+4=10

i) orolefes ¢ iy ek vocs

i) e ¢ e s

iii) T@ore ATl ¢ (@SS Tl

What is class? Explain and examine how

class concept affects the traditional views

regarding square of oppositions and

syllogistic arguments.

T FE A2 @AD A7l sfeRafes e

ReEe [ og@e @ R Jere &

gl [im SEm o A9 59

GROUP-B
(Western Philosophy)
(Marks : 50)

Answer any six of the following questions:

a)
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2x6=12

fofede @-@E =21t amd Tex wie ¢

Write the name of two philosophers who
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b)

g)

h)
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reject metaphysics.

wee W AW @Il IR SRR e
A |
What is monad?

one 52
What is idealism?
SV Fe0e [ @Re

What, according to Locke, is secondary
quality?

G A WCO, (N @ (2
How does Descartes define substance?
WS G o (FRTeId TR 2

What is the difference between evolution and
revolution?

e ¢ RaEa W SNy e

What is representative idealism?

fsmA @AM FE AT 2

Is there any distinction between mind and
soul in western philosophy?

SApsTe) T SRR S @3 SIS ST (e Ol
witz 62

Name the theory that does not admit
necessary relation between cause and effect.

T 8 FIFT W& I TF TR IE @
oW O TN <o |
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5. Answer any three of the following questions:

6x3=18

fasfefiie @@ foafe amz Tex nie ¢

a)

b)

d)
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Does Kant reject Metaphysics? How does
Ayer show that Metaphysics is impossible?

% & wfmie o FEEr @E @S|
R Sfgfw SeTeae

Discuss the theory of Naive Realism.
Mention one defect of this theory. 4+2=6

e IEAV 0Gs SNEBA 9 | G2 TSIMF AF0
@b T F4I

What is Hegel's theory of objective

Idealism? Distinguish between Realism and
Idealism. 2+4=6

@EAEE Qe ©IRAM 2 IEAT € SRRAIMA W&
N F9|

Discuss Spinoza's view about the nature of
substance. How many substances are accepted
by him? 5+1=6
Poicie Ty A>iE 6 e ol e emE
wIA I A T2

What are the defects of representative
realism? Who support this theory? 4+2=6

adfemell Qo wbels & 52 s 9@ wten
TLE ?
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6. Answer any two of the following questions:

10%x2=20

fsfeiiie @-ciEl 7t aeiw Tex wls ¢

a)

b)

d)
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Explain the theory of Parallelism. Is it
acceptable? 5+5

TS @ 67 wie | @3 og F aizeley e

Explain Barkley's principle 'esseest percipi'.
Why does Barkley accept God? 6+4

TR G Y o o [ T AFCE
@ 5 FPE R 2

How does Hume establish the regularity
theory of cause? Do you accept this theory?
5+5

fBoN (PATeId Hows A ©@ Afed! Fac ?
ofy 5 @3 vg T 42

Explain and examine Darwin's theory of

biological evolution. 6+4

T (S-S R 8 AT |
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